



Nome: \_\_\_\_\_

Encontro: Data: \_\_\_\_\_ Pontuação: \_\_\_\_\_

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^0 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{3} =$$

$$\left(-\frac{1}{4}\right)^0 + \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right) - \frac{1}{6} =$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right) - \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^0 + \frac{3}{4} =$$

$$\left(-\frac{1}{3}\right)^0 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{2} =$$



Nome: \_\_\_\_\_

Encontro: Data: \_\_\_\_\_ Pontuação: \_\_\_\_\_

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{206}{375}\right)$$

$$\left(\frac{1}{6}\right)^0 - \left(-\frac{1}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{3} = \left(-\frac{61}{192}\right)$$

$$\left(-\frac{1}{4}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{2}{5}\right) = \frac{77}{180}$$

$$\left(\frac{3}{4}\right)^2 + \frac{3}{4} = \frac{21}{16} = 1\frac{5}{16}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{67}{180}\right)$$

$$\left(\frac{1}{6}\right) - \frac{1}{6} = 0$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{69}{320}\right)$$

$$\left(\frac{1}{2}\right) - \frac{1}{6} = \frac{1}{3}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(\frac{1}{3}\right)^0 + \frac{3}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(-\frac{1}{3}\right)^0 + \left(-\frac{1}{6}\right) = \frac{5}{6}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{3}{8}\right)$$

$$\left(-\frac{1}{4}\right)^3 - \frac{1}{6} = \left(-\frac{35}{192}\right)$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{2} = \left(-\frac{17}{36}\right)$$

$$\left(-\frac{1}{4}\right) + \left(-\frac{2}{5}\right) = \left(-\frac{13}{20}\right)$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) = \frac{51}{125}$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{2} = \frac{123}{250}$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{2} = \left(-\frac{7}{50}\right)$$